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1.a) Define Resolution and Threshold, 
,

b) How errors are classified? Enumerate the various sources of errors.
c) State the difference between thermometer and thermistor.
d),....-...Describe the,...co.nstructional details and application of different types of'i i ."""', i ''', ,r""". i 'i ."""-, " i '', -r""', i i /""'...

i.......*..pr,essuregaug9*..ri i ;..........ji i i....,"ri : !......-.ri :

e)i State$e prinbidl€"of.d'apacitive I'bvbl.indicator.i ", 
i.....,i i i i'...,.,.'i

0 What is a turbine flow meter?
g) Define absolute humidity.
h) Explain strain gauge rosettes.

D What is a servo mechanism?
ji Differentiate Open and closed loop control systems with a suitable examples.
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2. , Explain the following terms:
a) Range and span

i .:?l.Cu|o,u,io,l .: ,, 
"i

ii:','i'a't:
3. ' Stbt'dtr and 6xpiaih'wittr a

elements with an example.

b),Resolution

$)Sgr..1srtivity.
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block"diagram
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4. State law of thermocouples. How are

thermometers?

6.
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INSTRUMENTATION AND CONTROL SYSTEMS

Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A.
Part B consists of 5 Units. Answer any one full question from each unit. Each
question carries 10 marks and may have a, b, c as sub questions.

u0I

the :laws useful in construction of thermocouple
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A Stroboscope projects 6000 flashes per minute on a disk mounted on the shaft of a
machine. Find the speed of the machine if the disk appears stationary and has a single

I10Iimage of 10 points.
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Explain the working of mechanical tachometer with aneat sketch.
State the difference between vibrometer and accelerometer.

diagrams.
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i -Ppscribe the fuiibtionpg of aiitr'bbpseppe and:e;pl_pin.!row spqeii:'o-fl'arotating liia.ftgan
i*;..pe,.3pasured fisiiiie" g.ingle parrcrii ag$multi-pdfiEi'n..9,i.gp. i"- 

r..' i. .; |-ttl ".jOR
9. How does a mechanical load cell work? Explain the principle of measuring shaft torque

using strain gauge torsion meter. [10]
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10. Draw a block diagram of closed loop control system. Describe its working for motor
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